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The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

Tg U U ‘37, ‘F 3R ‘W fiF wusl d g 81 ude
Gus & MGATTAR AT & IR QIS

Section - A 8xX2=16
(Very Short Answer Questions)
Examinees have to attempt all questions. Each question
is of 02 marks and maximum word limit is 30 words.

Qus - ‘37’
(arfer Ty IR Ue)
oRYefRfIT T Aeft M9AY Bl BT RAT &1 UB W 02 3ih Pl
g 3R arfdrpam 9req T 30 91eg 2|

What do you mean by going concern concept?

fARARAT &Y TR W 3T FIT FHLAT g ?
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(i) What do you mean by ledger?
RGTCT 98 | 31T T A & 2

(iif) Write the names of subsidiary Books.
gD YTl bl A feIRay|

(iv) Give a journal entry for depreciation on fixed assets.

TRt HURRI R Jed g1 & foRl St ufafse S

(v) Add the following:
=1 @1 fed -

S 9
I * 2176

(vi) What is empty set?
Reh ey o e &2

(vii) What is suspense account?

Ja=d! g1 e e §?

(viii) Find the last term of this arithmetic progression of 20
terms.

20 Y qreft o gH=aR Avft &1 3ifc U g HIfvrR |
4,7,10, 13 ---

Section - B 4X8=32
(Short Answer Questions)

Note: Section ‘B’ contains eight short answer type questions.
Examinees will have to answer any 04 questions. Each
question is of 08 marks. Examinees have to delimit each
answer in maximum 200 words.
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(Tvs - 9)
(oTg TR UeA)

fAder: @ug 't H 3710 7Y IR UBR & U &, Tt o fhgi

04 FaTell &1 STaTe <1 g1 U U9 08 37h &T gl guremffay
BT 31fhad 200 sai H Ul STaTg URAAT e gl

Describe any four advantages of Accounting.
gIh & fbeal TR T4l BT Juid HIFY

Name and give illustration of any four accounting concepts.
gl IR TG ARSI BT 9 T 3Gl SIfoTg|

Prepare a purchase book with imaginary figures.

Pleufies 3fepl BT YANT PR §Y Ueh hd YReIeb IR I

Explain the items of Balance sheet.

g fi 7el 1 A9

Write any four differences between capital and Revenue
expenditure.

USTNTG O ST &3t § IS IR SieR Jarsd|

Calculate compound interest from the following.

/T 32T | TAshglg sATST i RIS DY -

(i) Principle Amount = Rs. 2000
el XpH = Rs. 2000

(i) Rate of Interest = 12% per annum
&S ol R = 12% d1i¥®
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(iii) Interest Payble = Quarterly
& = AR®
(iv) Period = %year
3T = 6 HIg
8) How many permutations can be made from the following
words?
=T o1l & 21eRT A fheam ST SR ST Fahdl @ 2
(a) BANANA

(b) PROBABILITY

9) Give journal entries for interest on capital and interest on
drawings.

Uil IR &ITST U9 31ER0 IR 1S & ford STt ufdfsear S|

Section-C 2X16=32
(Long Answer Questions)

Note: Section ‘C’ contains 04 Long Answer Type Questions.
Examinees will have to answer any 02 questions. Each
question is of 16 marks. Examinees have to delimit each
answer in maximum 500 words.

(s - 9)
(el IR 1)
e : @wug ‘9 H IR ferura® T g1 uenfAfar o faear 02
el & STA1d ST & UAH U9 16 bt BT 7, gRienfefay ar
J1ferepdd 500 9reg) H Tdd Siare IR o Bl
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10) What are the different types of errors? Which of them do not
affect Trial Balance?

JAYfETT fh TR DT et & 2 ITH A T bl TG T Bl
arett ererfgat aiet 82

11) Give Rectifying entries for the following errors:
(i) Sold goods to Ram Rs. 500 but debited in Raman’s a/c.
(ii) Furntiure purchased Rs. 2000 written in purchase book.
freferRaa argfeat & ford guR it ufafseat Sivw -
(i) < B 500 3. BT A 41, fhg T & G H ST PR

& |
(i) 2000 3. &7 FHeR WRIGT 5= g g H forg feam T

12) What do you mean by adjustment entries? Give adjustment

entries for:

(i) Outstanding rent
(ii) Prepaid insurance

RIS gfafseal & oMy FaT wHed §° WHriee ufafsedi
SISEE
(i) 31 feprman
(i) e dt

13) What do you mean by trial balance? Describe its format.
deIe A MY a1 T & 2 $9d UReY Pl quid Hifrg|
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